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Day | Topic Homework [ IXL Grade
1 Intro Day | Worksheet 1 ' ]

2 |Invii ' Worksheet 2 . 'i

3 Inv 1.2 ' Worksheet 3 ? 'I

4 Inv 1.3 (start) | Worksheet 4 | AAL

5 | Inv 1.3 (finish) | Study for Quiz | AA2

6 |Quiz | Worksheet 5 | AAd

7 |Inv21(start) | Worksheet 6 | AAB |

8 | Inv2.1(finish)/Inv 2.2 (start) | Worksheet 7 LAAI0 |

9 |Inv22(finish)/Inv 2.3 (start) | Worksheet 8 Ixt |
10 | Inv 2.3 (finish) | Study for Quiz | X2 |

11| Quiz _ _ | Worksheet 9 X3

12 | Solving Inequalities Part T | Worksheet 10 | X4

13 | Solving Inequalities Part II | Worksheet 11 [X6 |

14 | Practice | Review Packet ' X8

15 | Review | Study for Test | X9

16 Test | None .
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Solving Linear Equations 12x+ 3y =9
Students have used tables or graphs to Jy=—12x+9 (1) Subtract 12x from each side of the
find solutions. They can solve simple linear equation.
equations, y = mx+bormx+ b=nx+c¢, y=—4x+3 {2) Divide each side of the equation by 3.
and simple equations with parentheses, 12x+ 3y =9
J’“"‘f‘*‘}’"‘;g‘:”""*’?';:f“““"“ o+ y=3 (1) Divide each side of the equation by 3.
SERNIPKIN K57 COMRUIT: VAVMRI y=3—4x (2) Subtract 4x from each side of the
symbolically, writing equivalent forms Goh
of the equation. s -

y=-4x+3 (3) Rearrange the order of terms.
Solving Linear Inequalities Sx+7=42 Solving this inequality is similar to solving
Solving an inequality is very similar to 5x = 35 S5x 4+ 7 = 42. The operations (+, —, X, +) are
solving a linear equation. The rules for x<7 applied to each side of the inequality. You usually
operations with inequalities are identical to show this solution on a number line.
those for equations, with one exception. . 3
When multiplying (or dividing) an inequality 6 ;
by a negative number, you must reverse the
direction of the inequality sign. ~5x+7=42 Reverse the direction cf the inequality sign.

—5x=135 4 3

x=-7 _; (Ii
Solving Systems of Linear Equations 50 =T - e A
There are three standard methods for R condinsinetit. 75 miiiv
solving a system of linear equations. 5.!_ 40 TNCNTTT solution of the system is x = 30
The method involves producing @ F 30| N . R and y = 20.
straight-line graphs for each equationand ~ © TT I TN T TT
then reading coordinates of intersection i 21T TT R
points as the solution(s). §2 [T TTINNT
The linear combination method relies - s T] H 11N
on two basic principles: (1) If one of the o 10 z'o 30 40 S0
equations is replaced by a new equation
S B i B s il Number of Adult Memberships
equations, the solution is unchanged. 3x+5y=8 . ) —6x—10y=—16
(2) The solutions of any linear equation {6:+y= g equivalent to {&x+y= 7

Ax + By = C are the same as the solutions
of KAx + KBy = KC, where K is a nonzero
number.

The equivalent form method is the
process of rewriting the equations in

y = ax + b form and then setting the two
expressions for y equal to each other.

Adding the two equations gives —%y = —9. The solution is y = 1
andx=1.

{2x+y-5 y=—2x+5

9x—3y=15 y=3x-5
Sincey=y, —2x+ 5=3x~5 The solutionisx=2and y=1,

is equivalent to {
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A X+ 65 =C.  SHandard Form
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IR =9,

_- &L
%_ 12x + 9 (1) Su..b‘{'\"ﬂ-ca{_ ;
y=-4x+3 (2) dw]dﬂ{ L&B

Molly 7< a;(@'rg
12x + 3y =9 S
3y=9-12x (1) — [ S
y=3 (2 =3

A=A

Mia \/

12x+3y=9
dx+y=3 1) — 3
y=3-4x (2) — 4 x
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y=3-4x (2)

j:ﬂx_g 12\ o..pph?cp COMM. 6
Pr‘o’o,wmv



DEL/'C- QJY §

() Write each equation in y = mx + b form. g 5
1. x—y=4 2. 2x+y=9

4. c=ax+dy
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1. y=5—-3x 2. y=%x+%
3. x=2y—3 4. fy+3=gx—15
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@® Use graphic or symbolic methods to solve each system of linear equations.
Check your answer.

1. x+ty=4andx—y=-2 2. 2x+y=-landx—2y=7
3. 2x+y=3and —-4x+2y=6 4. —2x+y=3and —4x+2y=10
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,//‘; C wovethan’| €4 uation AL

Solution & hitbeks Hhe ponit
whaie crdSS.-
- ¢

_---'L-ll/’" EEESNEENES ’_?_L_‘o l ;z "f
T ST o
‘%,\; X0 | -] Loy
£ P =TT T

s [ \ r\j




3. “2x+y=3and -4x+2y=6
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eAelo]CI1 " Shirts and Caps Again

**Be sure you are reading in your book beginning on page 24.**
A)
1) Do you understand Nyla's reasoning? Graph the two equations on the grid below.

Nyla

Write a system of two linear
equations.

{c+ 5=18

10¢ +5s5=125

Write equivalent equations.

J0c+5sFIas =t
=55 —-S_g 1o ...,

c=125-0.5s 10 | P i SN s o
(0 E & &
Graph the two equa‘jchc TR U DU AR

{c=18—5
- 8. ”
c= 10(‘1 25-5s) or

The solution of the system is the = DS‘OSS

point where the graphs of the ¥ =
equations meet. ot

What is the solution to the system of equations based on Nyla's graph?

\OQﬁ-SS:’\A%
10(7) \-5(1\}:-\95
151997

13



2) Do you understand Jimfa's reasoning?

Jimfa

Finish solving the system according to his reasoning.

:.:I'::ii::-stemaftwo linear . O . 63 L ;1.5 é _.8.{..!?
{c+5=‘18- .5 S q-S
10¢c + 5= 125 T
i | DS +HRS (8
Write equivalent equations.
{c=—5+18 C:[E‘-—-S “]Q'B -JQ'S
¢=-0.55 +12.5 — 5 B S
. C=-3+ (P ;52 “-__555,
rite one linear equation. . .
-055+1265=-5+18 C:“'“'H@ —

Solve the linear equation for s.
Then find the related value of c.

What is the solution to his system?

05-'7 mr:‘i

Q

\ Aheety Teap

What do you notice about the two solutions? "-H\L SO

Why do you think this happened? < § i O 68{‘9”\
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5) {—2x+2y=10
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Mrs. Tennant ordered Mexican food from GrubHub for
dinner last night. She thought that only she and Audra
were going to be home for dinner so she ordered 4 tacos
and 2 drinks for a total of $ 19.50. When her husband
and son got home, they smelled the tacos and decided
they wanted some. Mrs. Tennant placed another order
through GrubHub - 6 tacos and 2 drinks for $ 27.50.
How much did she pay for a faco? How much did she pay
for a drink?




=dgelo] 1 W8 Tacos and Drinks

Student Strategies — Study the strategies and see if you can use them to solve the

systems in part D

Represent the problem.

M @O @O i
am -+ fff - N
o) 59546
(T
M D = $44 54
an i as B @ @ = $¢

Combination Strategy |

@ﬁ@ g T
¥ @ 5554

157, . :
Pl - BE - mw

i S
o $$
(D = 3

E = 51 50

If's In the Systam
Sopyright © Pearson Educatio Lof fis

ol + 20:$9

AT+ 20=$7

6T+ 2P =52

~(4T + 2D) =-(37)

2T=$2

T=$1

G(§1)+20=42
2043
P=$1.50
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Problem PV Tacos and Drinks

Represent the problem.

$$5%9

T M + @ f;;j = 484 6T+20=%9
(T
(M (M 6659
-_:.I,-.:: {,r] . E E = $$ 4T+2ﬂ=$?
Combination Strategy Il
59568 :
. ory + @ @ = 5448 6T+20=%9
M
WaaWaa
AT+ 2D0=%7
M (D .
_\:’i‘; L (BEseE ses 2T+$7=$9
(@8 ” Y944 2T+ $7-$7=$9-7
(T) = ¢4 2r=42
(M
@ = 5 T-§1
'}3 = $150 6($1)+ 20=$9
S 2D0=$3
P=%1.50
It's In the System e u .
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Problem 2.2
Tacos and Drinks

Represent the problem.

@l @ @J i
@ @ - fo a = ::::5 6T+20=$9
s 2)
@ @ o 664
mm ¢ BE - & amees
Combination Strategy lll
£EY £D) ER
1 rl”T"\ 4 U U $5998 o, 20 $9
s o [ I T £ T B
’,i"l - - o —
o @ = $9445
@ @ + @@ = 54 4T+ 20=97
B B B 4%
@ B @
+ - - A A 6T+ 2P=9%2+4T+ 20

~(4T+ 20) = - (4T + 2D)

B = b 2r =$2
(™

a3 = 3% T=$1

. 6(31)+ 2D=$9

@ = $150 (#1) =

D=$1.50 20



=dgolol 1 WM Tacos and Drinks

Represent the problem.

o O
(M (M) + C[ﬂ fé] - ﬁif’ 8T+ 20=$9
@ d
MM
ffi_;fl + Eﬂ Eﬂ - ::$$5 AT+20=$7

Combination Strategy IV

@@@
L BB - e e

M O P T I1T

M M _[ s :4r+29=$7
@ D 0l T

5:_$-$.$$ Wﬁrﬁ# \ $o9=-947+2T
SE9s = W 4 $0-47=$7+27T-§7

faye

$4 - M §2=27
m_J
$ " (M $1=T1
$1.50 = @ 6(§1)+2D=49
2D=43
D=4$1.50
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D) Solve the system.

Ix+y=4
1){x+y=5

22



Problem 23 Solving Systems by Combining Equations I

A)

Use the methods of Pablo and Jasmine, and Samantha to solve each system.

—x+4y=2 2x+3y=4
L {x+2yis 2'{5::4-3;:—3
2 {2x—3y=4 i {3r+2y=10
Sx—-3y=7 4x—-y=6 3 -4
— AX LY~
N s ) QLKZ4-3 ""L(' -
% 5.}:5 -5 X S 5»&3%‘—;:?_ 9“"")*%:"’
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(559 3 Al
@25 VR Swsieas
o > >) Gx-34=7
e . 5(1) -3y=7 Y ¥AUu=10
:3:2_;— — J j: 4@)-t= 2
‘:] e’ @):\; |O Seluditn
| ; (5
gofu.:\wnn 3%*'%\(_’)9-:: (O |9'>
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B) Skip this part.
C)

1. IsSystem B below equivalent to System A? Explain.

System A System B
{3x+2y=l0 {3.x+2y=10
dx-y=6 8x—2y=12

2. Use the combination method to solve System B.
3. Check that your solution also satisfies System A.

D)

2v+2y=5 x+3y=4
1 { s 2.{ .

3x =8y =12 4x +5y=2
3. {‘i_tr-y—:': N a. {—.r*?y“ﬁ

Ix—-2y=15 Sx— 10y =11

“in #3 check by substituting into both equations.
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Solving Inequalities Part I
Solve and check.

1) 2x+935 11

S¥ :‘7 =0 %
Sl )=t
D=L

P2
By . 1 DN, ﬂ*_‘?\: 9( .
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9) lf:(—Z)(-S]:lE;O(D 6@%,8) i E)C)
""’22(“"18"'(9 ’ég
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AT E V'
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o aes  bOD=-1
& | & é(-”*‘ﬂ—-*)Z)
(X:"__'H == |’2V—/

10)6(x + 9){ -12

-19<X

Solving an inequality follows the same rules as solving an equation. Solve the inequality.<=—

st S A4
EF2Y G 9\3*

Xr % 4“:0

.-(C,
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Solving Inequalities Part IT

Solve the Inequalities. &raph the solution on a number line.
1) 10x + 18 < -32

(AS]

L —
O X%

(¥

|

n

3) 3x-7<2

What happened in #3

Insert >, <, or =,

4)5 ___ 6
5) -2____ -9
6)10___-5
R S |

RULE: (for inequalities onlyll)



8) 4-x>2x-10

9) x-5+4x<-11

10)4~(2x +8)>16
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